


8079N

E1 50- E2 O E3
2 X6 2 X2 2 %10
E4 E5 E6
iE
'HT [N .-MH'
— X3 g X1 o X1
E7 ES8 E9
\ 1 @ X1
E10 E1“ | E12 |
g (1
11111 Ay A
x1 e ] X2 e | X1
E13 E14 E15
|| | T‘U. I |
B 1N it |; ‘| |
7 N R L)
X1 X1 X1




8079N

E17

E19

E24

E25




8079N

E32

E33

=36

X2

E39

x4

X1

E35

E38

¢ /
. . ‘L |
\ y
30cm 17cm
~ x8

e
N

E41

)x1

2ol

GQrsirEiQ
SEiliz)e!

SRS

ES31

E34

E37

X2

E40

x4




8079F

E1 50° E2 | E3
X X6 X x2 x10
E4 E5 E6
'HM-
X3 - X1 X1
E7 ES E9S
m;f\\\wx1 11111 X2 x1
E10 E1" | E12'
11111 1) h
X1 I e X1
E13 E14 E15
| | T‘U.
g N i |;
7 N A
s X1 s X1 X1




8079F

E27

X1

E30

X1

E26

X6

E29

X1

E25

X6

E28




8079F

> V: >
|
™ | © Iil o) A -
op) o (@ <
LL] LL] LL] LLI
— < (0 @)
p o >
& s X >, m
& ] <m
® o/
QX D) (0 @) w0 —
(qp) (@p) (qp) <
LL] LL] LL] LL]
¥ % < X
m@nm DD@ @MW
EEEE ||| £
— @80 || |3s4.
| D& [ v
. = Ji I ()
oP) (@ p) <t
| L] LL] LL]




8079N 8079F
Nr Element 2 2
1 - S6x60 436 452
2 - W6x60 366 382
3 II - K2_d30_B 1 18
6 Dl : 72 d30_B 17
9 | — ISO 7380 M6x25 14 14
10 DIN 9021 6x18 15 15
11 DIN 1587 M6 8 8
14 |- ISO 7380 M6x12 56 56
16 { g - K1_d21_B 33 33
17 g - Z1_d21_B 33 33
18 DIN 985 M6 6 6
21 DIN 125 8x16 220 232
22 DIN 125 6x12 106 118
24 = ISO7380 | M6x16 28 40
26 (s - S4x40 4 4
27 | oy | DIN 571 8x140 27 27




<

8079N 8079F
Nr Element 2 3
< K 5 A2 g2
29 E - G 2 40 40
<2 —F
S K_5_A2 g2
29 ! N - G_V (1000) 4 4
58 & ; LOCTITE 1 1
61 H ; KL105 68
109 DIN 913 10x10 16 16
7100_5_A2
121 ﬂ - 93 G vi 14
146 o DIN7991 | Méx12 92 92
147 Co ; M6x10 176 188
148 % - |CONETECO 46 46
149 _ - ALUZ SD 8 8
179 , . ; Z ECO_1 9 9
& -
180 @ - K_ECO_1 9 9
F80X_6_PE_
181 @ - 15 2 2
213 @ ; Z NA_1 1 1
214 . Z NA 2 1 1




E9

E17

E35
E37

[{e)
[s2]
w
o (2]
= 2
w . w
[ee]
N S Cd a
o &
i RNA ) Z
QA )
‘% .
] \ ) F r
—C il
T~
3¢[5 3¢f5 3¢ o
==
T — P P 3¢
. — -
. n- H
Y .
- ), L T
L
\ .. Iy
N 77
L= N
< 2
Yo}
w =

E29




8079N INST_80_44A

9

8079F l
8079N [
8079F
By
/A M
e

INST_80_58




8079N
8079F

INST_80_59

INST_80_60

iy

INST_80_61




INST_80_6

INST_80_26 @ I
&
]

-

LY

4

r | ‘.
i [+

INST_80_27 /&[/‘ I

INST_80_9 INST_80_9




8079N
8079F

INST_80_32

INST_80_1

INST_80_62

80_36

INST_80_12

INST_80_25

INST_80_1




8079N

INST_80_64

INST_80_63

INST_80_65

INST_80_66




8079F

INST_80_63

INST_80_64

0 92¢ (013
™
™ ] [ A
< S S
%_ onw_ wy
o
@, _cdv
b2
=z
(@]
(2] (2]
(2] (o2}
(A
[+0] -
N p === ©
N
; =+
Wi [ Iy
m “ ln
0€ ] gzz ! | 0€
e S cias - EELCE S==e=
|
1 “ " LI
! 1 IRHE |
Iyl | 4 NI ]
_“ ! —— ! Il ||
bl _Tala) | Enmid
| i
y T R
gyl 9 | i
i i
< | ) | I |




8079N
8079F

A0

xS

€8

€6¥

200

152

150

750

&6y

Y

0S1

100

637

151

987

08

08 08

73

133

A0

A8

100

80

80

80

xmace )
5 [RERGARR oy

20

88

2 7

V4%

47

232

Sy

0S

50

08

0¢

88

i)

ol
o

80

80

e’

652

1€




8079N

ns :
B = -
g F 3 A /w o
3 ty Em ﬁw
8079F
T
@ = :

30

HH

:o:




Gl
Q&
[0)@] Al
El|=[el|Ea

ar—

L

IIOII

min 3 cm
max 8 cm

46,08
N6.08




8079N

i

B151,1m° min. 24H

1]







"O"

8079N

8079F

A-A

>4 1] 4>

o B

MAX
~18cm




